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PART A: Grammar and Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct
choice on your answer sheet.

& R ULL G yuyd
19 axivo B \D dxiuo

61- As a teenager, I ... look at myself in the mirror whenever I wanted to go out with my friends.
1) was needing to have careful 2) needed to have carefully
3) needed to have a careful 4) was needing to have a carefully

62-There is no doubt that Russia’s human rights record is not ... the United States, but it has improved,
even allowing freedom of emigration.
1) as good as that of 2) as well as that of
3) the best of 4) better than

63-In his book, he explains how he and others helped organize conferences in which the members ...
discussed solutions.

1) and themselves 2) themselves
3) they themselves 4) who they
64-Mr. Thomson agreed to give the final exam two days later, so we had some ... time to study better.
1) extra 2) proper 3) strange 4) continuous
65-To be honest, I really felt a moral ... to tell my parents the truth about what had happened yesterday.
1) stress 2) obligation
3) emotion 4) entertainment

66-1 am very worried about my friend, Alex. I think he must have some ... problems, which have
influenced the way he behaves recently.
1) familiar 2) domestic
3) foreign 4) generous

67-1In 1966, the World Cup was stolen during a public showing of the trophy in England. ..., it was found
a short time later in a trash container by a little dog named Pickles.
1) Largely 2) Fortunately
3) Patiently 4) Hopefully

68- Agatha Christie was one of the most successful writers in the history, and lots of her works were
widely read, copied, ... and translated.
1) published 2) developed
3) defended 4) attracted

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice on your
answer sheet.

It seems unthinkable today not to provide children with a decent education. There is such ...(69)... academic
achievement these days that it’s easy to forget what a big problem illiteracy used to be. Being unable to read
can be intensely embarrassing and can make someone feel like a ...(70)... failure. Someone who can’t read is
often understandably afraid of certain ...(71)... . The problem can seem unsolvable. However, if people have
a good teacher and spend a reasonable amount of time on practicing, they can easily learn how to read and
write. It is a matter of fact that being able to read can lead to an improved ...(72)... of life.

o S 8303 0903T s (32205
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69- 1) a strongly emphasis at 2) strongly emphasis on

3) strong emphasis at 4) a strong emphasis on
70- 1) rapid 2) special 3) complete 4) probable
71- 1) destinations 2) situations 3) inventions 4) suggestions
72- 1) possibility 2) quality 3) action 4) schedule

PART C: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on your

answer sheet.

PASSEGE 1:

Many laws which have been passed in the various states of the United States over the years are now out of
date and plain ludicrous. For example, the laws in one state make it illegal for men to go without their guns.
Obviously, this law is broken daily. While it was once considered of utmost importance that a man be armed
and ready for action, it is hardly necessary for a man to carry guns to work today. However, a man without
a gun is also technically breaking the law.

On the other hand, another law makes it illegal to fasten one’s horse to the fence surrounding the Capitol
building. It is hard to imagine anyone riding a horse into the city and leaving it tied outside of the Capitol
building today. One would have to go to great lengths in order to break this law.

These outdated laws remain on the record because the time needed for state lawmakers to debate the
issues and make changes in the existing laws would keep the members from attending to more important
current and relevant issues. It would also be hard to make people pay for the cost of removing or updating

these laws. Consequently, it is likely that these laws will remain on the books.

73- What does the passage mainly discuss?
1) How men in some American states break laws every day
2) The reason why it is necessary for American men to carry a gun to work
3) The difficulty of breaking some laws in some cities of the United States
4) The fact that some laws, which were once important in America, are of no value now

74-The word “current” in paragraph 3 is closest in meaning to ... .
1) changing 2) recent
3) near 4) safe

75- What does the pronoun “it” in paragraph 1 refer to?
1) to carry guns to work 2) action
3) work 4) gun

76- Which of the following is NOT a reason for not updating old laws in the United States?
1) Discussing existing laws will take lawmakers’ time.
2) There are other more important issues that need to be taken care of.
3) A record of these laws should remain in the books for future reference.
4) Updating these laws is expensive and people won’t be willing to pay the cost.
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PASSEGE 2:

If you want to make a great, healthy meal, why not start with a soup? The liquid in soup keeps you feeling
full for a long time, and you can add many healthy ingredients—not only to make it delicious but to get your
vitamins and minerals. Another great thing about soup is that you can use what you already have in your
cupboard or refrigerator to make it.

For example, if vou have a quart of chicken or vegetable broth, add it to a pot of water for the base.

Throw in a few dried herbs, such as dill or bay leaves, as the pot heats up. If you have a small onion and a
clove of garlic, peel and add them, too. Then, check the vegetable drawer in your refrigerator. If you find
celery or carrots, chop up about a cup of each and toss them in. Green beans, cabbage, and zucchini also
work well to add flavor, and you can even use frozen vegetables, such as peas or corn. Next, make your soup
extra hearty and high in fiber by adding brown rice or whole-grain pasta. For protein, throw in cooked
chicken or canned pinto beans.

Finally, bring the mixture to a boil, and then let it simmer for a while so that the vegetables become tender
and the flavors blend together. This usually takes at least 30 minutes. But once it’s ready, you’ll see that this

yummy meal was worth the wait!

77- What does the passage mainly discuss?
1) It explains why soup is healthy.
2) It entertains the reader with a story about soup.
3) It explains how to make a healthy soup.
4) It tries to make readers believe that soup is the best.

78- Which of the following best describes the function of the underlined sentence in paragraph 2?
1) It supports the point made in paragraph 1.
2) It gives an example to compare two different ideas.
3) It adds another reason why soup is a healthy food.
4) It disagrees with the point made in paragraph 1 by giving an example.

79- Which of the following is implied in the passage about the author’s opinion about making soup?
1) A well-stocked kitchen is needed in order to make a healthy soup.
2) People should use only ingredients they are familiar with to make soup.
3) A person who is going to make soup should shop a lot of things before starting.
4) Making soup does not require a lot of planning.

80- Why does the author end the passage with the sentence, “But once it’s ready, you’ll see that this
yummy meal was worth the wait!”?
1) To inspire readers to make a healthy soup
2) To show readers that making soup takes a long time
3) To help readers understand how to make soup
4) To tell readers that soup is easy to make
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Part A: Grammar

Directions: Questions 81-90 are incomplete sentences. Beneath each sentence you will see four words or phrases
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct
choice on your answer sheet.

81-Advances in technology and automation have reduced the need for manual labor. Therefore,
working hours ... .

1) must reduce 2) should be reduced 3) reduces 4) was reducing
82-1 guess your brother didn’t like the way his wife behaved in front of the guests, ...?
1) did she 2) didn’t she 3) don’tl 4) did he

83-The presence of certain bacteria in our bodies ... one of the factors that determine our overall
health.

1) was 2) were 3)is 4) are
84-What was discovered in the soil of one of the gardens was a button ... back to medieval times.

1) dates 2) to date 3) dating 4) which it dates
85-No matter who deserves the blame for the blackout, the reality is people suffered, ... .

1) but the economy did 2) was the economy too

3) so the economy too 4) and so did the economy
86-The white dress which she bought last week scarcely touched the tops of her bare feet, ...?

1) did it 2) didn’t it 3) did she 4) didn’t she
87-A: Barely have | missed a day of work, as | love my job.

B:....
1) So have | 2) | have too 3) Neither have | 4) Either | have

88-1 fully know my mother’s behavior. Whenever | hear the tone of solemnity in her voice, | know
something important ... .

1) have happened 2) has happened 3) has been happened 4) have been happened
89-Sarah hired a personal trainer to help her meet the physical requirements of the job, and ... .
1) so Mariah did 2) too Mariah did 3) Mariah does too 4) so did Mariah

90-On graduation day, the principal’s speech, which precedes the handing out of diplomas, ... always
very formal. But afterward, one of the teachers ... a casual, funny talk.
1) is — gives 2) are — gives 3) is — give 4) are — give

Part B: Vocabulary

Directions: Questions 91-105 are incomplete sentences. Beneath each sentence you will see four words or phrases
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct
choice on your answer sheet.

91-The country is sliding into the depths of recession and the eclipse of the ruling political party is ... .
1) formidable 2) unbelievable 3) vulnerable 4) inevitable
92-The president who has recently won the elections has repeatedly indicated his great ... with the
media coverage.
1) displeasure 2) resignation 3) possession 4) independence
93-Their passports do not give them the right to ... in the United Kingdom of Great Britain and
Northern Ireland, made up of England, Wales, Scotland, and Northern Ireland.

1) reside 2) afford 3) conduct 4) comfort
94-Dissatisfied with the situation, the union ... that they will call a strike if the new rules are not
withdrawn.
1) excludes 2) dismisses 3) arranges 4) threatens

95-There will be an interim government to oversee the ... to democracy, and the process will
approximately take six months.
1) accommodation 2) transition 3) commission 4) admission
96-Since | was the one who nominated Bruce, it would be ... for me to vote for another candidate.
1) impatient 2) inappropriate 3) illegible 4) inactive



=

f oo by | yazio olais! oot A ga3l € 850

97-1n Dhaka, non-communicable disease rates are increasing at the same time as massive migration to
the city, where populations are becoming more ... with limited options for physical activity in the
polluted, congested, crowded urban space.
1) demanding 2) sedentary 3) decent 4) alternative
98-To minimize the devastating effects of a tsunami, scientists are constantly trying to anticipate them
more ... and more quickly.

1) accurately 2) inherently 3) arbitrarily 4) cautiously
99-At the end of the performance, the audience showed their ... by giving the orchestra a standing
ovation.
1) entertainment 2) criticism 3) appreciation 4) audition
100-Family life is changing all over the world, and it’s not just the ... of the family, but also its habits.
1) structure 2) survey 3) competence 4) prevalence

101-Do you know why I like this place more than any other one? Since the restaurant’s new owners
have created a welcoming ... .

1) benevolence 2) performance 3) resemblance 4) ambience
102-Models can make people feel ... about their own bodies. They make you feel horrible about
yourself, thinking that you’re not OK the way you are.
1) irresponsible 2) immature 3) insecure 4) unimaginative
103-The negotiators made a/an ... effort to reach an agreement, but it was to no avail.
1) self-reliant 2) age-old 3) close-knit 4) last-ditch

104-One of the uplifting moments of the film is when Leonardo is ... with his brother to whom he had
not been speaking for ten years.
1) resolved 2) reinforced 3) restored 4) reconciled
105-The soldiers built a suspension bridge across the river and the maximum weight that it could ...
was about 3 tons.
1) measure 2) diminish 3) support 4) confirm

Part C: Sentence Structure
Directions: Choose the sentence with the best word order for each of the following series. Then mark the correct choice
on your answer sheet.

106-
1) Most of us are believing that the death of a spouse often leads to the bereft partner’s premature death.
2) Most of us believe that the death of a spouse often leads to the premature death of the bereft partner.
3) Most of us believe that the death of a spouse often is led to the premature death of the bereft partner.
4) Most of us are believing that the death of a spouse often is led to the bereft partner’s premature.
107-
1) If you’re suffering dehydration, you would drink plenty of water and to sit or lie down for a while.
2) If you’re suffering from dehydration, you would drink plenty of water and to sit or lie down until a while.
3) If you’re suffering from dehydration, you should drink plenty of water and sit or lie down for a while.
4) If you’re suffering dehydration, you should drink plenty of water and sit or lie down until a while.
108-
1) Many companies are developing boxes, cartons and cans which can easily be decomposed by
organisms such as bacteria.
2) Many companies which are developing boxes, cartons and cans so they can easily be decomposed by
organisms such as bacteria.
3) Many companies developed boxes, cartons and cans which can easily decompose by organisms such as
bacteria.
4) Many companies which developed boxes, cartons and cans so they can easily decompose by organisms
such as bacteria.
109-
1) Either most of the slums will be replaced by high-rise apartments, several run-down districts there are
inside the city where the housing is in a bad state.
2) Inside the city in where the housing is in a bad state, several run-down districts there are, and most of
these slums will replace by high-rise apartments.
3) Being several run-down districts inside the city in where the housing is in a bad state, either most of
these slums are going to replace by high-rise apartments.
4) There are several run-down districts inside the city where the housing is in a bad state, and most of
these slums are going to be replaced by high-rise apartments.
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110-

1) Yet dieters and health food fanatics claim yogurt will prolong your life, yogurt has much nutritional
value as a glass of milk.

2) Yogurt has as much nutritional value as a glass of milk, yet dieters and health food fanatics claim that
yogurt will prolong your life.

3) To have as much nutritional value as a glass of milk, therefore dieters and health food fanatics claim
yogurt prolongs your life.

4) Dieters and health food fanatics claim that yogurt prolongs your life, therefore yogurt has much
nutritional value as a glass of milk.

Part D: Language Function
Directions: Read the following conversations between two people and answer the questions about the conversations by
choosing one of the choices (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

111-

112-

113-

114-

115-

116-

117-
118-

119-

120-

A: The math teacher has just been taking a shine to me. We’re ...(111)... .
B: I couldn’t believe my ears! You didn’t ...(112)... at all.

A: Right. But I think I’m in his good books.

B: Maybe! You should ...(113)... and talk to him about your poor grades.

1) making a big thing out of it 2) speaking your mind

3) getting on like a house on fire 4) going back to square one
1) hit it off 2) laugh it off

3) take it off 4) put it off

1) keep a lid on it 2) strike while the iron is hot
3) come to terms with it 4) push the boat out

A: Hey, Elina. How are things?

B: Hey, Sara. Too bad. We’re going belly-up and ...(114)... .

A: Sorry to hear that. What’s happened?

B: My husband was deceived by a foreign company, and ...(115)... .

1) paying through the nose 2) putting on airs and graces
3) living from hand to mouth 4) dragging our heels

1) cut things fine 2) blew it out of all proportion
3) thought nothing of it 4) lost a fortune

A: Jane and Rochester loved each other ...(116)... sight; they got married soon after meeting each
other.

B: Awesome! They must make a good couple.

1) on quick 2) at first 3) with poor 4) out of

A: By the way, | heard a storm had struck your village. Are you OK?

B: Yeah, we’re fine. It just ...(117)... some damage to our roof.

A: Actually, | was worried as | heard that the villagers ...(118)... a risk to run out of their homes
while the storm was blowing up.

1) did 2) made 3) had 4) got

1) shook 2) took 3) did 4) played

A: The little girl was ...(119)... . Tears were streaming down her face.

B: Gosh! My heart went sick when | heard she had lost her parents in an accident.

A: Awfull It must have ...(120)... her massive pain.

1) at death’s door 2) thrilled to bits
3) in floods of tears 4) in seventh heaven
1) made 2) caused 3) added 4) done

Part E: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the
correct choice on your answer sheet.

Human values are very important in life—so important ...(121)... people are and should be ready to
sacrifice almost anything to live with their values. Honesty, integrity, love, and happiness are some of
the end values or destination values that human beings seek to attain, practice ...(122)... . On the
other hand, values such as health, money, fame, status, intelligence, and so on are the means values
or path values which help ...(123)... the end values. The end values and the means values are also
known as terminal values and instrumental values ...(124)... . While the end values are constant, and
guide us to reach the higher order goals, means values are temporary ...(125)... nature and help us
attain comparatively lower-order goals.
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People’s value system ...(126)... both sets of values—terminal and instrumental—which are
developed and reinforced through the culture ...(127)... they grow on one side and the environment
on the other. Socialization from parents, religious institutions, friends, personal experiences, and
society ...(128)... to the formation of values in individuals. The individual values ...(129)... by our
belief system, prevailing social systems, and to some extent socio-economic conditions. The terminal
values are formed over the years, ...(130)... the instrumental values are determined by situations.

Knowing our values helps us gain clarity regarding why we do what we do, and accordingly stay
on ...(131)... and live a consistent life. Our values influence all our actions and decisions. Anthony
Robbins, in his book titled Awaken the Giant Within, states that values guide our decision and,
therefore, our ...(132)... . Those who know their values and live by them become the leaders of our
society. Knowing our values ...(133)... since we know what is most important for us today and on an
ongoing ...(134)... . In fact, values are ...(135)... competencies to reach our goals.

121- 1) if 2) that 3) which 4) whether
122- 1) and live with 2) but to live with

3) and to live with them 4) but live with them
123- 1) supply 2) escape 3) depend 4) achieve
124- 1) respectively 2) inadvertently 3) indelibly 4) fluently
125- 1)in 2)on 3) of 4) with
126- 1) to comprise 2) comprises 3) comprised 4) comprising
127- 1) which 2) whose 3) in which 4) by whom
128- 1) construct 2) reprimand 3) contribute 4) diverge
129- 1) affect 2) affecting 3) affected 4) are affected
130- 1) despite 2) whereas 3) besides 4) although
131- 1) note 2) pity 3) track 4) hint
132- 1) destiny 2) curiosity 3) obscurity 4) anxiety
133- 1) design and help the goals of our lives 2) helps us design our life goals

3) and helping to design our goals of life 4) designed to help our life goals
134- 1) joint 2) shape 3) tool 4) basis
135- 1) as important as 2) much the most importantly

3) more importantly 4) more much important than

Part F: Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by some questions. Answer the
questions about the passages by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on your
answer sheet.

PASSAGE 1:
Cities develop as a result of functions that they can perform. Some functions result directly from the
ingenuity of the citizenry, but most functions result from the needs of the local area and of the
surrounding hinterland (the region that supplies goods to the city and for which the city provides
services and other goods). Geographers often make a distinction between the situation and the site of
a city. Situation refers to the general position in relation to the surrounding region, whereas site
involves physical characteristics of the specific location. Situation is normally much more important
to the continuing prosperity of a city. If a city is well-situated in regard to its hinterland, its
development is much more likely to continue. Chicago, for example, possesses an almost
incomparable situation: it is located at the southern end of a huge lake that forces east-west
transportation lines to be compressed into its vicinity, and at a meeting of significant land and water
transport routes. It also overlooks what is one of the world’s finest large farming regions. These
factors ensured that Chicago would become a great city regardless of the disadvantageous
characteristics of the available site, such as being prone to flooding during thunderstorm activity.
Similarly, it can be argued that much of New York City’s importance stems from its early and
continuing advantage of situation. Philadelphia and Boston both originated at about the same time as
New York and shared New York’s location at the western end of one of the world’s most important
oceanic trade routes, but only New York possesses an easy-access functional connection (the Hudson-
Mohawk lowland) to the vast Midwestern hinterland. This account does not alone explain New York’s
primacy, but it does include several important factors. Among the many aspects of situation that help
to explain why some cities grow and others do not, original location on a navigable waterway seems
particularly related. Of course, such characteristics as slope, drainage, power resources, river
crossings, coastal shapes, and other physical characteristics help to determine city location, but such
factors are normally more significant in early stages of city development than later.



Y dmio b3 1 pasio solais! oot A Ogasl €8 835

136-What does the passage mainly discuss?

1) The development of trade routes through the American cities

2) Contrasts in settlement patterns in the United States

3) Historical differences among three large American cities

4) The importance of geographical situation in the growth of the American cities
137-The primary purpose of paragraph 1isto ... .

1) summarize past research and introduce a new study

2) describe a historical record

3) emphasize the advantages of one theory over another

4) define a term and illustrate it with an example
138-The passage suggests that a geographer would consider a city’s soil type part of its ... .

1) hinterland 2) situation 3) site 4) function
139-According to the passage, a city’s situation is more important than its site in regard to the city’s ... .
1) long-term growth and prosperity 2) ability to protect its citizenry
3) possession of favorable weather conditions 4) need to import food supplies
140-The author mentions each of the following as an advantage of Chicago’s location EXCEPT its ... .
1) hinterland 2) nearness to a large lake
3) position in regard to transport routes 4) flat terrain
141-According to the passage, Philadelphia and Boston are similar to New York City in ... .
1) the size of the population 2) age
3) site 4) the availability of rail transportation
142-The pronoun “it” in paragraph 2 refersto ... .
1) account 2) primacy 3) connection 4) hinterland
PASSAGE 2:

Many of the most damaging and life-threatening types of weather—torrential rains, strong
thunderstorms, and tornadoes—begin quickly, strike suddenly, and dissipate rapidly, devastating
small regions while leaving neighboring areas untouched. One such event, a tornado, struck the
northeastern section of Edmonton, Alberta, in July 1987. Total damages from the tornado exceeded
250 million dollars, the highest ever for any Canadian storm. Conventional computer models of the
atmosphere have limited value in predicting short-lived local storms like the Edmonton tornado,
because the available weather data are generally not detailed enough to allow computers to
determine the subtle atmospheric changes that come before these storms. In most nations, for
example, weather balloon observations are taken just once every twelve hours at locations typically
separated by hundreds of miles. With such limited data, conventional forecasting models do a much
better job predicting general weather conditions over large regions than they do forecasting specific
local events.

Until recently, the observation-intensive approach needed for accurate, very short-range forecasts,
or “Nowcasts”, was not practical. The cost of equipping and operating many thousands of
conventional weather stations was too high, and the difficulties involved in rapidly collecting and
processing the raw weather data from such a network were insurmountable. Fortunately, scientific
and technological advances have overcome most of these problems. Radar systems, automated
weather instruments, and satellites are all capable of making detailed, nearly continuous observation
over large regions at a relatively low cost. Communications satellites can transmit data around the
world cheaply and instantly, and modern computers can quickly compile and analyze this large
volume of weather information. Meteorologists and computer scientists now work together to design
computer programs and video equipment capable of transforming raw weather data into words,
symbols, and vivid graphic displays that forecasters can interpret easily and quickly. As
meteorologists have begun using these new technologies in weather forecasting offices, Nowcasting is
becoming a reality.
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143-What does the passage mainly discuss?
1) Computers and weather 2) Dangerous storms
3) Weather forecasting 4) Satellites
144-Why does the author mention the tornado in Edmonton, Canada?
1) To indicate that tornadoes are common in the summer
2) To give an example of a damaging storm
3) To explain different types of weather
4) To show that tornadoes occur frequently in Canada
145-The word “subtle” in paragraph 1 is closest in meaning to ... .
1) complex 2) regular
3) imagined 4) slight
146-Why does the author state in paragraph 1 that observations are taken “just once every twelve
hours”?
1) To indicate that the observations are timely
2) To show why the observations are of limited value
3) To compare data from balloons and computers
4) To give an example of international cooperation
147-The pronoun “they” in paragraph 1 refersto ... .
1) models 2) conditions
3) regions 4) events
148-With Nowcasting, it first became possible to provide information about ... .
1) short-lived local storms 2) radar networks
3) long-range weather forecasts 4) general weather conditions
149-With which of the following statements is the author most likely to agree?
1) Communications satellites can predict severe weather.
2) Meteorologists should standardize computer programs.
3) The observation-intensive approach is no longer useful.
4) Weather predictions are becoming more accurate.
150-Which of the following would best illustrate Nowcasting?
1) A five-day forecast
2) A warning about a severe storm on the radio
3) The average rainfall for each month

4) A list of temperatures in major cities
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